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LT = 8,147, 198
HRHEI T = 449,196 |HEH! 640 m3
(FEFHEED)
THp A7 iy L EEM 5, 000m3LL 10,
000m3 AT ;
A 1, 000 m3
Ty A7 iy I EEM 5, 000m3L8L 10,
000m3 AT ;
T 2V 3,772,750 | B&MAR (L8E) RE + 250 m3
2. bmAT ;
BRAR (Bite) R+ 120 m3
2. 5mPL 4. OmARTi ;
PR (Bite) R+ 2,300 m3
4. 0mPL E
T wb AT 1 X
0 Cadl- EHIRY £5Te) ;
FEIA O=27) 1 =X
+1 850, 000m3ATH ;
Rkt A = 850, 730 | {EMEFETE (8] 1-36) 620 m2
BRI v+ R OWYE + kit
I (B ) 680 m2
T i S O I BRI
P v T = 3,074,522 | H-HbSEENE 1 X
0 Cadl- EHIRY £5Te) ;
¥ LWLy 1 X
LR L 2 27,536, 977
EELT X 1,645,130 |F4E Y GEED 1 X
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HEL 1 2V
HEL 1 2V
JE 1 2N
ayy)=b7 my ) T (RE77 vy 3E) = 1 22,042, 877 | BT Hfsa -} 102 m
(4)
18-8-40 (75 47) JEIE 55¢cm & 50cm ;
BT HeAfavy)-h 25 m
(D)
18-8-40 (FJ7) JEME 49~55cm & & 50cm
BEFT/ A 1kay)) -} 1 E10
317" 1)
18-8-40 (B JF) ;
B TR (FRRE) 207 -b 3 (=10
(347" 3)
18-8-40 (B JF) ;
%07 ny )8k 856 m2
150kg/{EAT 122 350mm VEHH7 FEAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;
H Hi 37 m2
T W B i =10 ;
Bl HT Ruiav - 124 m
U8 tka79-h) (W)
18-8-40 (&)
fiA T 2 1 3,689, 640 |HEZ 2,220 m2
R T 500m2LA E
mtT = 1 159, 330 | &L GiAL) 141 m3
R T = 1 12, 946, 933
e+ T 2 1 469,513 |FRIEY 1 X
+4)
HER L 1 =,
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HmEEE 1 =X
TA7 7 Ml T X 1 3,347,322 | TIESME (HE - BJE ) 356 m2
BTy r77 RC-40 A VW E 150mm ;
g (I - BIF ) 356 m2
AR A2y (20) AH%E/E 50mm 1. 4mPd |3
.OmELT
& JE i) —b 211 m
(A347°)
18-8-40 (Fi47) ;
& JE i) —b 26 m
B447°)
18-8-40 (Fi4F) 5
TA7 7 Ml T X 1 1,549,870 | TJ@EME (BE - BRIEHD) 490 m2
FEITyYr77 RC-40 A VW E 150mm ;
b R (HEE - BRI ) 490 m2
AR A RM-25 (£ YV E 100mm ;
g (I - BIF ) 490 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;
BRI/ T = 1 1,014,875 |7 VF¢ANUZIAITE 125 m
300X 300 ;
ETFTeRE T (R 154 HAAT) =X 1 5,394, 370 | /|NEIHERE 7 m3
(15)
0.8mPA 1. omBL T 18-8-40 (B ) ;
/N R 52 m3
2%5)
0.8mPh 1. omPA T 18-8-40 (k) ;
AR T = 1 1,080, 003 |7 VEyA MBI 117 m
300X 300 ;
ta-bE BEE) 6 m
SEELFE ¢ 350 90° & 18-8-25(20) (k)
kT = 1 90, 980 | BLIGHT HEE K 2 (=10
(D)
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Pttt 18-8-25 (FidFA)
HEE L = 2,734, 556
HEYHE L T = 1,587,536 |a2v/)-MiEiEmEUE L 167 m3
A EY) BhkE T
ERZE R LD 8 m
TAT7 W MEEERR 15emPL T
EhAE AR AR 585 m2
TAT7VMERZE IR Bf2ERRIE 5 cm ;
WEEEAE 18 =
2t
TR AL T = 1, 147,020 | BaEH 167 m3
/)Y - hik (AT
o 1 29 m3
TAT 7V
By 167 m3
/)Y - hik (AT
By 29 m3
TAT 7V
B RAE S 18 1
I 2 18, 654, 699
THEHER T = 18,328,879 | I3 HE KL 1 =X
(F&E)
THEHERE L 1 =X
()
be il 1 =
(F&E)
RC-40 ¥J& 100mm ;
BRDF 1 =
()
RC-40 ¥J& 100mm ;
+0 5 1 =
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(FxE)
Mt R *HIE (14F)
+m 5 1 =X
€ EI)
AEEHE T Y 1 325,820 | AZ Wk B g B 1 =
[ERAE Xy = 1 70, 020, 363
HiE R 2 1 6, 438, 000
BISTIGE: = 1 717, 000
BGRESGESE (5 L) = 1 717, 000
B (FEHL) = 1 5,721, 000
T = 1 76, 458, 363
Bl gy 2 1 21, 803, 000
T =5l = 1 98, 261, 363
— R A 2 1 16, 828, 637
TS 2 1 115, 090, 000
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